NToroeoe TectupoBaHue
no anreodope
7/ Knacc

backakoBa T.U.
Yynutenb matemMmaTukun

MQOY OOLL Ne 48
r. ApxaHrenbckK



1.NMMpeacrtaBuTb B BUAE CTENEHN
BblpaXeHue:

)(a°)° 2) (-a°)*
3) x*x3 4) x*:x3
5) ((@°)°)° 6) (a"")*(@°)*
7) (_a6)7(_a3)3 . 919
8) a24 : (a®)2a'3



2. YNPOCTUTbL BblpaXXeHue:

 (x-2)(x-11)—-2x(4-3x);
2) (a+6)(a-3)+(a-4)(a+3);

3) (y-8)(2y-1)-(3y+1)(3y-2);
4) (x*+2y)(x>+7y)-6x°(x*-8y)



3. YNpoCTUTb BblpaxeHue:

(x+3)(x-3);  2) (x+2)*;
3) (4x-3y)(4x+3y);
4) (7a-5x)(7a+5x)-(4a+7x)%;

5) (y-2)(y+3)-(y-1)*+(5-y)(y+5);
6) 4(c-3)?(c+3)%-3(c+4)(4-c)?



4. Pa3noXmntb Ha MHOXMUTEnNu:

8a-12B; 2) 3a-aB;
3) 6ax+6ay; 4)4a*+8ac;
5) a>+a?; 6) 12x%y-3xy;

7) 21a%B+28aB?;
8) 4a%-8a°+12a*



5. Pa3znoxutb HaA MHOXUTenNu;

1)aB+ac+xB+Xc;
2) Sa+5B-ax-BX;
3) a®+a*-3a%-3;



6. Pa3noXxmtb HA MHOXUTENMW:

1)x%-4;
2) 25-9a%;
3) 36x2-100a2;
4) 0,04p?-1,69a>;
5) a*-B°



/. PasnoXntb Ha MHOXUTENM:
1) 11x2-11;
2) 6a°-6a;
3) 5x>-5xy?;
4) 2x%+12xy+72y>;
5) -8a>+8a°-2a;
6) ac*-c*-ac?+c?



8. [lpeacTtaBuTb Tpex4neH B BUAe
KBagpaTta OBYy4JieHa:

1)a’+8a+16;
2) 9x2-6x+1;
3) 24aB+36a°+4B°



OueHKu:

«3»-22 - 27 npaBUNbHbIX OTBETOB
«4»-28 - 36 npaBUNbHbLIX OTBETOB
«9»=-37 - 43 npaBUNbHbIX OTBETOB



